Malmo6 BK

Lilla Serien 8

IMP dver féltet, 22 bord, 44 par. Antal brickor: 14.

Plac Par Poadng Namn MID Klubb
1 32 53 Peter Moricz - Mats Martensson 25801 37097 BK Bridgehuset - Lunds BK
2 43 50 Olov Héagerfors - Stefan Rosenberg 20790 87804 Malmo BK
3 2 38 UIf Hegethorn - Per Henriks 4462 11230 Malmo BK - Bridgeklubben 2 Kldver
4 20 33 Bengt Nilsson - Peter Gati 5797 11054 Malmd BK
5 1 26 Jan Clementsson - Klas Bellander 55627 4541 Malmo BK
5 34 26 Sanna Clementsson - Bonnie Clementsson 55629 55628 Lunds BK - Malmé BK
7 17 23 Jan Eriksson - Bjorn Edvardsson 27765 15757 Malmo BK - Pri-Bri 1936
7 35 23 Hans-Olof Hallén - Lars Backstrom 9896 11442 Malmd BK
9 18 20 Tomas Lindqvist - Bjorn Erickson 11362 60673 Malmo BK
10 3 14 Anders Freij - Thomas Ehrstedt 5548 4074 LUCK - Hoors BK
10 28 14 Goran Nilsson - Hans-Olof Holmqvist 17206 15960 Malmo BK
12 15 12 Anders Bark - Arne Dahlberg 54788 406 Malmé BK - BK Sekvens, S-torp
13 9 11 Simon Granath - Magnus Wegestal 26207 91149 Malmd BK
13 33 11 Jane Brandemar - Agneta Johansson 55146 4760 BK Bridgehuset - Pri-Bri 1936
15 4 7 Gunilla Wallin - Ake Kajrup 48390 4572 BK Bridgehuset - Pri-Bri 1936
15 16 7 Jane Girdo - lldiko Lang 94114 28328 Malmé BK
17 5 4 Susanne Levin - Goran Nilsson 53421 23136 Malmo BK - Ystads BS
17 7 4 Bertil Hansson - Lone Stolt 6750 82807 Malmo BK
19 30 2 Lars Becklén - Olle Persson 80419 23285 Malmd BK
19 36 2 Lennart Ek - UIf Nilsson 39185 63923 Malmd BK
21 41 1 Lars-Olle Peters - Anna-Carin Persson 4564 17207 BK Zonen - Malmé BK
22 22 0 Judit Derzsi-Jalgard - Kerstin Boberg 52692 46649 BK Bridgehuset
22 44 0 Annette Everum - Christl Everum 37344 37342 Malmd BK
24 19 -1 Kjell Ake Nilsson - Mats Andersson 14638 29670 BK Bridgehuset - Pri-Bri 1936
25 8 -2 Siv Jarlvik - Katrina Redell 5751 43216 Malmo BK - Pri-Bri 1936
25 14 -2 Linus Olsson - Lennart Hammarholm 30150 94327 LUCK - Kullabygdens BK
27 27 -4 Johnny Pettersson - Milan Korac 11666 49951 Malmé BK - BK Bridgehuset
27 29 -4 Berth Rasmusson - Birgitta Kiotseridis 5791 22803 Malmd BK
29 26 -7 Ingemar Martensson - Sune Andrén 38627 63660 Malmd BK
29 38 -7 Per-Olof Olehn - Hakan Stenfot 5099 41921 TBS Scania - Bridgeklubben 2 Klover
31 11 -11 Bengt Sahlstrom - Barbara Sahlstrom 53453 53454 Malmé BK
31 31 -11 Borje Jarlvik - Walter Hulphers 4479 4452 Malmo BK
33 37 -12 Hanna Lewandowski - Christina Leander 91156 30482 Malmo Dam BK - Malmd BK
34 6 -14 Eva Landin - Marianne Andersson 86141 86117 Ellstorps BK
34 25 -14 Jan Glicksman - Goran Gronvall 12216 3066 Malmo BK
36 40 -20 Gun Bellander - Ulla Lundstrém 3638 4769 BK Bridgehuset - Pri-Bri 1936
37 13 -23 Sven Grahn - Hans Antolin 44670 40226 Pri-Bri 1936
37 39 -23 Anders Nilsson - Lars Olsson 15846 14525 Pri-Bri 1936
39 12 -26 Alf Roos - Claudia Sjoberg 92856 55585 Varnamo BK - Lunds BK
39 23 -26 Johan Erlandsson - Jérgen Andersson 17710 22136 Véarnamo BK - BK Tre Sang, Helsingborg
41 42 -33 Marten Howe - Martin Gardrup 24774 36202 LUCK - Malmd BK
42 24 -38 Mats Adolfsson - Jérgen Claesson 4759 87317 Malmo BK
43 21 -50 Hakan Myrhagen - Annemarie Ritzau 411 81989 BK Sekvens, S-torp - Staffanstorps BK
44 10 -53 Gunlis Aberg - Pia Katarina Larsson 33694 37352 BK Bridgehuset
15 a K Bésta kontrakt 16 4 E3 Bésta kontrakt 17 & EK862 Bésta kontrakt
Syd v ED83 34 V =-140 Vast v Kn873 24 S =90 Nord vD9 44 N =420
NS + Kn97 ov + D872 Ingen + E1054
#D9752 & ¢ v & NT #K43 & ¢ v & NT *64 & ¢ v & NT
410986543 #+E N6 5546 4 D542 4876 N7 7577 a4 4 Kn753 N 9 105 108
vK v 106542 S655 46 vE5 v D9642 S875 77 vEKn1073 vK862 S 9 105 108
+ D8 ¢ E10652 06 87 97 ¢+ K10964 ¢5 055665 4962 ¢ Kn83 033833
#EKn3 +K10 V687297 109 *ED82 V56665 #K852 #Kn3 V33833
& DKn72 # KKn109 4 D109
v Kn97 v K10 v54
+ K43 ¢ EKn3 + KD7
»864 #Kn765 «ED1097
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
325 44 V-1 *2 50 6.0 -6.0| 8 30 2¢ V-2 s A 200 40 -40| 2 24 44 N= v2 420 9.0 -9.0
17 39 34 V-1 aK 50 6.0 -6.0{14 36 2¢ V-2 s A 200 40 -40|17 39 44 N= &5 420 9.0 -9.0
20 42 2NO-1 42 50 6.0 -6.0|] 2 24 INN+2 5 150 3.0 -3.0|20 42 44 N= v6 420 9.0 -9.0
2 24 24 V= *2 -110 20 -20| 4 26 INN+1 v4 120 20 -2.0|22 44 44 N= 43 420 9.0 -9.0
8 30 24 V+1 &2 -140 20 -2.0| 6 28 2NN= 48 120 20 -2.0| 1 23 44 N-1 %] -50 20 20
9 31 34 V= »2 -140 20 -2.0(20 42 INN+1 v4 120 20 -2.0| 3 25 44 N-1 ] -50 20 20
11 33 24 V+1 &5 -140 20 -20| 1 23 INN= v2 90 20 -20| 4 26 44 N-1 v6 -50 20 20
14 36 34 V= *2 -140 20 -20| 3 25 INN= +5 90 20 -2.0| 5 27 44 N-1 v6 -50 20 20
15 37 34 V= &5 -140 20 -2.0| 9 31 INS= &T 90 20 -2.0| 6 28 44 N-1 +8 -50 20 20
19 41 34 V= *2 -140 20 -2.0|11 33 INN= v4 90 20 -20| 7 29 44 N-1 %] -50 -20 20
21 43 24 V+1 &2 -140 20 -2.0|12 34 INN= v2 90 20 -2.0| 8 30 44 N-1 vK -50 20 20
123 24 V+2 &2 -170 1.0 -10(15 37 INN= v2 90 20 -2.0| 9 31 44 N-1 ] -50 20 20
6 28 24 V+2 &7 -170 10 -10(17 39 INN= v4 90 20 -2.0(10 32 44 N-1 %] -50 -20 20
12 34 34 V+1 &2 -170 10 -10(19 41 INN= 48 90 20 -2.0(11 33 44 N-1 v6 -50 20 20
16 38 24 O+2 ¢4 -170 1.0 -10| 7 29 INN-1 *2 -50 -3.0 3.0|12 34 44 N-1 v6 -50 20 20
4 26 2NS-2 aT -200 0.0 0.0]16 38 INN-1 +5 -50 -3.0 3.0|14 36 44 N-1 v6 -50 20 20
5 27 2NS-2 aT -200 0.0 0.0[21 43 INN-1 v2 -50 -3.0 3.0|15 37 3NS-1 v3 -50 20 20
22 44 INN-2 v2 -200 0.0 0.0]22 44 INN-1 v2 -50 -3.0 3.0|16 38 44 N-1 +3 -50 20 20
7 29 44 V= *7 -420 -6.0 6.0[10 32 3NN-2 v4 -100 -40 40|18 40 44 N-1 v2 -50 -20 20
13 35 44 O= v9 -420 -6.0 6.0|13 35 14 S-2 &T -100 -40 40|19 41 44 N-1 %] -50 20 20
10 32 24DV +1 vA -570 9.0 9.0(18 40 3NS-2 4 -100 40 4.0(21 43 44 N-1 v6 -50 20 20
18 40 24DV +1 &5 -570 90 90| 5 27 34#5S-3 vA -150 50 5.0(13 35 4v O+1 ¢K -450 -10.0 10.0
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18 4 K974 Basta kontrakt 19 410962 Basta kontrakt 20 4 K107 Basta kontrakt
Ost vE5 3v O =-140 Syd vE109 ANT SD-1-100 |Vast v EK1076 54 N =650
NS 4653 oV + D6 Alla 4 952
#EKD5 & ¢ v & NT #K743 & ¢ v & NT *E9 & ¢ v & NT
46532 #ED N7 3 486 4 EKKN753 44 N5 102 4 9 432 & Kn5 N5 5 11119
vKn3 vKD1094 S73486 v 763 vKDKn852 S 5 102 4 9 vDKn2 v84 S 55 11119
+ 104 ¢ KDKn72 059 956 +5 ¢ Kn3 08 3 107 4 ¢+ EKn63 ¢ K1084 088111
#87632 #10 V599586 #E85 #Kn1062 vV 8 3 107 4 #KKn84 #D10652 v8sg1l1li1
» Kn108 D8 » ED9864
v 8762 v4 v 953
+ E98 + EK1098742 + D7
*Kn94 »D9 »73
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
13 35 2v N+4 &2 230 80 -80| 1 23 5¢4DS= #A 550 12.0 -12.0|13 35 3NN+2 ¢33 660 9.0 -9.0
18 40 2¢vDO-1 v4 100 6.0 -6.0| 4 26 34 V-2 +Q 200 7.0 -7.0| 5 27 44 S+1 +A 650 9.0 -9.0
4 26 INS= vJ] 90 6.0 -6.0| 9 31 5vDO-1 +A 200 7.0 -7.0|15 37 44 S= +6 620 9.0 -9.0
10 32 24 S-1 vJ] -100 1.0 -10| 2 24 3¢ S+1 4A 130 50 -5.0|16 38 44 S= ¢ A 620 9.0 -9.0
123 3¢ 0+1 24 -130 00 00| 6 28 4¢ S= s K 130 50 -5.0|18 40 44 S= vQ 620 9.0 -9.0
17 39 2¢ O+2 &J -130 00 00|14 36 44 S= ¢+5 130 50 -5.0[{12 34 2v N+4 &J 230 -1.0 1.0
19 41 3¢ O+1 & -130 0.0 0.0|15 37 44 S= v3 130 50 -5.0| 1 23 34 S+2 &8 200 20 20
22 44 3¢ O+1 &) -130 0.0 0.0|17 39 44 S= s A 130 50 -5.0| 4 26 3y N+2 #Q 200 20 20
6 28 1lv O+2 +8 -140 0.0 0.0[19 41 4¢ S= s A 130 50 -5.0| 9 31 2¢v N+3 &J 200 -20 20
729 3v0O= *4 -140 00 00|13 35 2vS= a4 110 50 -5.0|21 43 24 S+3 vQ 200 20 20
8 30 2v O+1 4 -140 00 00| 325 5¢5S-1 s A -50 1.0 -10(22 44 3v N+2 +v4 200 20 20
20 42 29 O+1 6 -140 00 00| 527 5¢S-1 s A -50 10 -10| 6 28 34 S+1 +A 170 -20 20
2 24 3vO+1 & -170 -1.0 1.0(18 40 5¢ S-1 LY -50 1.0 -10| 7 29 3v N+l ¢4 170 20 20
325 2v0+2 4 -170 -1.0 10| 8 30 5¢4DS-1 &A -100 -1.0 1.0|11 33 34 S+1 ¢A 170 -20 20
9 31 3vO+1l v2 -170 -1.0 1.0|11 33 34 V= +Q -140 20 20|17 39 2v N+2 #Q 170 -20 20
11 33 3v O+1 8 -170 -1.0 1.0|12 34 24 V+1 +Q -140 20 20|19 41 24 S+2 43 170 20 20
12 34 3v O+1 4 -170 1.0 1.0 7 29 3vO+2 ¢A -200 -30 30| 325 2¢vN+1 &K 140 -3.0 3.0
15 37 2v O+2 &J -170 -1.0 1.0|20 42 64DS-2 #A -300 6.0 60| 8 30 2v N+1 &2 140 -3.0 3.0
16 38 3v O+1 &J -170 -1.0 1.0|21 43 3NV= vK -600 -11.0 11.0|20 42 2v N+1 &J 140 -3.0 3.0
21 43 29 O+2 4 -170 -1.0 10|10 32 4v O= ¢A -620 -11.0 11.0(10 32 3« V-1 vA 100 40 4.0
527 4v O= L) -420 ;7.0 7.0|16 38 4v O= ¢ A -620 -11.0 11.0| 2 24 44 S-1 »8 -100 -8.0 8.0
14 36 4v O= v8 -420 7.0 7.0|22 44 4v O = ¢ A -620 -11.0 11.0(14 36 4v N-1 *2 -100 -8.0 8.0
21 & DKn862 Bésta kontrakt 22 &D Bésta kontrakt 23 « 107 Bésta kontrakt
Nord vD2 2NT N =120 Ost vED2 6¢ S =920 Syd v EKn862 24 S =110
NS ¢ E7 ov +D107532 Alla ¢+ EKn74
#9753 & ¢ v & NT *K72 & ¢ v & NT »82 & ¢ v & NT
49743 4K105 N8587 8 4432  KKn106 N 6 127 8 10 ~ K8 « Kn6 N3 55865
v987 vK4 S8587 8 v9765 v10843 S 6 127 8 10 vD97 vKb543 S355865
+Kn98 ¢ KD653 O57 465 ¢ Kn9 .- 06 06 42 ¢ K953 ¢ D10 087 856
#ED4  #K82 V57465 #E1098 #DKn543 V60642 #EK75 #DKn1093 V 8 7 8 5 6
s E & E9875  ED95432
v EKn10653 v KKn v10
41042 + EK864 + 862
#Kn106 *6 *64
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
1 23 2vDN+2 ¢K 1070 140 -140| 1 23 64 N+1 4 940 8.0 -8.0[(22 44 54D O -2 4A 500 9.0 -9.0
5 27 44DO-3 YA 500 80 -80| 9 31 64 N+1 +¥3 940 80 -80| 1 23 54V-3 oT 300 6.0 -6.0
18 40 2v S+2 +8 170 10 -10(19 41 6¢ N+1 v4 940 80 -80| 527 3NV-3 aT 300 6.0 -6.0
14 36 24 V-3 vQ 150 0.0 00| 2 24 6¢ N= «Q 920 70 -7.0| 8 30 3NV-3 s 300 6.0 -6.0
20 42 INO-3 #J 150 00 00| 325 64 N= 3 920 70 -7.0|12 34 3NV-3 oT 300 6.0 -6.0
325 3vS= +8 140 0.0 0.0]|12 34 64 N= «Q 920 70 -7.0|16 38 4v O-3 #6 300 6.0 -6.0
17 39 1lv S+2 ¢ 140 0.0 0.0|14 36 6¢ N= «Q 920 7.0 -7.0|20 42 4v O-3 &A 300 6.0 -6.0
729 2vS= +8 110 -1.0 1.0(18 40 6¢ N= «Q 920 70 -7.0| 3 25 3NV-2 oT 200 3.0 -3.0
10 32 2v S= +9 110 -1.0  1.0(20 42 6¢ N= «Q 920 70 -70| 7 29 4640-2 4A 200 3.0 -30
11 33 1lvS+1 +6 110 -1.0 10| 5 27 3NS+2 v5 460 -40 40| 2 24 34 S= *A 140 20 -2.0
15 37 2v S= +8 110 -1.0 1.0| 8 30 3NN+2 &3 460 40 40| 9 31 34 S= *A 140 20 -2.0
2 24 INV-2 vQ 100 -1.0 1.0|11 33 3NN+2 &6 460 -40 40|15 37 34 S= *A 140 20 -20
16 38 34 V-2 vQ 100 -1.0  1.0|21 43 3NN+2 &5 460 -40 40|14 36 3« N= vT 110 1.0 -10
19 41 3¢ O-2 #A 100 -1.0 1.0|10 32 5¢ S+2 +9 440 5.0 50|17 39 24 S= *A 110 1.0 -10
21 43 24 V-2 vQ 100 -1.0 10| 7 29 3NS+1 &8 430 50 50| 4 26 2¢ N= *A 90 0.0 0.0
8 30 INO-1 *T 50 30 3.0| 4 26 5¢ N+1 &6 420 50 50|19 41 34 S-1 *A -100 -5.0 5.0
9 31 3¢ O-1 &) 50 -30 30| 6 28 5¢ N+1 #Q 420 5.0 50|11 33 2NV= v6 -120 5.0 5.0
12 34 INO-1 T 50 -3.0 3.0|15 37 5¢ N+1 #Q 420 50 50| 6 28 INV+2 +8 -150 -6.0 6.0
22 44 24 V-1 vQ 50 -30 3.0(16 38 5¢ N+1 #Q 420 50 50|13 35 2v O+2 & -170 -6.0 6.0
6 28 2¢ O= s A -90 -6.0 6.0|17 39 44 S= v9 420 50 5.0(10 32 34DS-1 &A -200 -7.0 7.0
13 35 34 S-1 *A -100 -6.0 6.0|22 44 5¢ N+1 #Q 420 5.0 50|21 43 2¢ S-4 *A -400 -10.0 10.0
4 26 3¢ O= s A -110 -6.0 6.0|13 35 3NN-4 2 -200 -13.0 13.0|18 40 3NV= &T -600 -12.0 12.0
24 & K8652 Basta kontrakt 25 4 D7654 Basta kontrakt 26 # EKn763 Basta kontrakt
Vast v 1065 2NTV =-120 Nord v Kn3 4v O =-620 Ost v 1043 4ANT O =-630
Ingen +D ov + 1075 Alla + Kn63
#EKKn7 & ¢ v & NT #DKn4 & ¢ v & NT *76 & ¢ v & NT
«ED # Kn9743 N57 655 24 K109 #ES8 N3 4354 « K102 49854 N536 43
v EKn7 v K43 S57 655 v 105 v EK9864 S 34354 v D7 v EK6 S53643
+ KKn ¢1042 075578 ¢Kn93 ¢ D62 09 9 108 9 ¢ EK75 ¢ D1082 O 8 107 9 10
#1095432 #D6 V85578 #K7652 #E9 vV 9 9 108 9 K984 D3 vV 8 107 9 10
410 & Kn32 aD
v D982 vD72 v Kn9852
+ E987653 + EK84 +94
*8 #1083 #EKN1052
Par  Kontr ut Res Poéang Par  Kontr ut Res Poang Par  Kontr ut Res Poéang
22 44 3#4DV-2 ¢Q 300 70 -7.0| 2 24 3vO+1 +A -170 6.0 -6.0|18 40 44DO-1 ¢9 200 11.0 -11.0
325 2¢ S+1 7 110 30 -30| 4 26 3vO+1l <A -170 6.0 -6.0| 2 24 3NV-1 *7 100 10.0 -10.0
17 39 3¢ S= *T 110 30 -30| 7 29 2vO+2 &3 -170 6.0 -6.0| 8 30 44 V-1 *7 100 10.0 -10.0
2 24 38V-2 +Q 100 30 -3.0| 931 3vO+1 +A -170 6.0 -6.0| 4 26 3¢ V= *7 -110 70 -7.0
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4 26 3&V-2 ¢+ Q 100 30 -3.0|11 33 2¢v O+2 ¢K -170 6.0 -6.0| 7 29 2¢ O+1 4Q -110 70 -7.0
8 30 34DV-1 &A 100 30 -3.0(13 35 2v O+2 &) -170 6.0 -6.0|16 38 3¢ V= *7 -110 7.0 -7.0
11 33 34 V-2 +Q 100 3.0 -3.0|15 37 2vO+2 ¢K -170 6.0 -6.0|17 39 3¢ V+1 3 -130 6.0 -6.0
16 38 44 V-2 ¢+ Q 100 3.0 -3.0|18 40 3vO+1 +A -170 6.0 -6.0|15 37 INV+3 &7 -180 50 -5.0
10 32 14 N= *Q 80 20 -2.0|20 42 29y O+2 +A -170 6.0 -6.0| 527 3vS-2 *A -200 50 -5.0
6 28 34 V-1 +Q 50 20 -2.0|16 38 3y O+2 +A -200 50 -50| 1 23 3NV= *7 -600 -50 5.0
7 29 34V-1 +Q 50 20 -2.0(17 39 3v O+2 +¢K -200 50 -5.0| 6 28 3NV= *7 -600 -5.0 5.0
20 42 24 V-1 *A 50 20 -20| 8 30 3NV= a4 -600 -50 50| 9 31 3NV= *7 -600 -5.0 5.0
21 43 2& V-1 +Q 50 20 -2.0|12 34 3NV= a4 -600 -50 50|12 34 3NV= &7 -600 -50 5.0
14 36 14 N-1 *Q -50 20 20| 325 4v 0= +K -620 -6.0 6.0[(22 44 3NV= 46 -600 5.0 5.0
1 23 3¢DS-1 &T -100 -30 30| 527 4v 0= ¢A -620 6.0 6.0 3 25 3NV+1l &7 -630 -6.0 6.0
12 34 3¢ S-2 #3 -100 -3.0 3.0|10 32 4v O= *A -620 6.0 6.0[10 32 3NV+1l 46 -630 -6.0 6.0
15 37 5¢ S-2 s A -100 -3.0 3.0|14 36 4v 0= ¢A -620 -6.0 6.0|11 33 3NV+1l 46 -630 -6.0 6.0
527 2NV = v5 -120 -3.0 30|21 43 4v O= + K -620 -6.0 6.0(13 35 3ANO+1 +v4 -630 -6.0 6.0
9 31 INS-3 *6 -150 40 40|22 44 49 O= *A -620 6.0 6.0(14 36 3NV+1l &3 -630 -6.0 6.0
18 40 5¢ S-3 &T -150 40 40| 1 23 3NV+1 %) -630 -6.0 6.0(19 41 3NO+1 &2 -630 -6.0 6.0
19 41 4¢ S-3 3 -150 -40 40| 6 28 3NV+1l 46 -630 -6.0 6.0(20 42 3NV+1l 46 -630 -6.0 6.0
13 35 3NO+1 ¥5 -430 -10.0 10.0(19 41 4v O+1 +A -650 6.0 6.0(21 43 3NV+1l 42 -630 -6.0 6.0
27 4 E3 Bésta kontrakt 28 4 D85 Bésta kontrakt
Syd vE75 5NT S =460 Vast vED2 6NT N =1440
Ingen +8 NS + D9543
#KDKn8752 & ¢ v & NT *72 & ¢ v & NT
4 D764 #Kn952 N 115 9 7 11 & K42 410973 N 8 12101012
vK83 vKn96 S 115 9 6 11 vKnl04 v9853 S 8 12101012
+K64 ¢Knl07532 O 2 7 3 6 2 ¢ Kn8 2 051221
#EB3  &- V27362 #109864 #DKn53 v51221
4 K108 & EKn6
vD1042 v K76
+ ED9 + EK1076
21094 #EK
Par Kontr ut Res Poang Par Kontr ut Res Poang
19 41 3NS+3 +4 490 40 -40| 1 23 6NS= &T 1440 6.0 -6.0
20 42 3NS+3 #4 490 40 -40| 2 24 6NS= *4 1440 6.0 -6.0
3 25 3NN+2 45 460 40 -40| 3 25 6NS= T 1440 6.0 -6.0
13 35 3NS+2 44 460 40 -40| 5 27 6NS= T 1440 6.0 -6.0
14 36 3NN+2 3 460 40 -40| 6 28 6NS= T 1440 6.0 -6.0
15 37 3NS+2 46 460 40 -40| 7 29 6NS= T 1440 6.0 -6.0
17 39 3NS+2 #4 460 40 -40| 9 31 6NS= T 1440 6.0 -6.0
18 40 3NN+2 45 460 40 -40(13 35 6NS= T 1440 6.0 -6.0
22 44 3NS+2 ¢4 460 40 -40(14 36 6NS= T 1440 6.0 -6.0
21 43 3NN+1 46 430 3.0 -3.0|18 40 6NS= T 1440 6.0 -6.0
4 26 54 N= 45 400 20 -2.0|20 42 6NS= 42 1440 6.0 -6.0
6 28 3NS= Ly 400 20 -2.0|22 44 6NS= 42 1440 6.0 -6.0
7 29 5 N= a2 400 20 -2.0|10 32 64 N= +«Q 1370 40 -4.0
8 30 5 N= a5 400 20 -2.0|11 33 64 S= T 1370 40 -4.0
5 27 44 V-4 +8 200 -40 4016 38 64 N= ¢2 1370 40 -4.0
1 23 3&«N+2 ¢3 150 5.0 5.0(19 41 6¢ N= v9 1370 40 -4.0
2 24 34V-3 +8 150 50 50| 4 26 3NS+3 &T 690 -11.0 11.0
9 31 34S+2 44 150 -50 50| 8 30 3BNS+3 &7 690 -11.0 11.0
11 33 44 N+1 & 150 5,0 5.0(12 34 ANS+2 &T 690 -11.0 11.0
16 38 3« N+2 ¢J 150 -5,0 5.0(15 37 3NS+3 #4 690 -11.0 11.0
10 32 44 N= +J 130 -50 5.0(17 39 3NS+3 %6 690 -11.0 11.0
12 34 49 S-1 46 -50 9.0 9.0(21 43 4vy N+1 2 650 -11.0 11.0
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